ll
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It is dark. You have 10 grey socks 1.
and 10 blue socks you want to put
into pai-s. All socks are exactly
same except for their colovr. How
many minimum socks would you
need to take with you to ensure
you had at least a pair?

(a) 16

@8

©7

@ 3

A number when divided by 12! 2.
leaves 37 as remainder. What will

be the remainder when the same
number is divided by 11

(@) 3
(b) 2
(c) 4

S @

Dccjmal
rational number cannot be

(a) tgrminating

(b) non-terminating’

() non-tcrminaiing repeating

i~ (d) non-terminating non-repeating
<
-
. ' 7o
CSDX/B p .2

rcptesehtation of a 3.

W W . nOTESmMYFO0T.cOM

wirif aive s By Sk w10 e

st 10 MY aa ¥ Bed sm s i
At AR Efy i ¥ wfafrs 6

e §1 SR T s 8w B
A3 A Fen i P6 wn @ wn -arTy
T A T % R AN AR s 7

(@) 16 e
®s
© 7. ey
(d)l}," ' _,;.‘,7
uF HE B 121 O Bafa w3 W
e 37 W B B1 AR T T
11 R 9 2 A DTS T
(@ 3
() 2
(c) 4
(@ 1
o e e W e e
(a) W
(b) IEEH - -
(c) IFEEE JEH
(d) SFaErE I
. 4 ’
/ .\‘:;:-\/ :
VAR R
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- 4.

_
ey

T -

Vo :
Xy Vi , oo
(a) 2y—x
®) 22 S e
y=x :
xy
(©) -
2(y—x)
xy
(d)
2(x-y) |
o. Waheeda’s g_an__daughter is. about 6.
‘as many d.ays as her son n\wecxsj .
and her granddaughter s as many
~months as she is in years. Her
granddaughter, her ' son °© and
‘Waheeda together -are -120 years
old. The age of Waheeda in years...
is L ,
S/ jar J
@e o T
(b) 66 45
©@7n P77
@81 =yl
CSDX/B { 3

‘Solving forx 4
_____._#_l. JXx#2
X= _____I______
.
2—-X
_wcgctx=
(a) 0
) -
o
(d) =1

IfA¥=B"'= C‘ and A2 BCthenz S.
equals

1
X, X %2
2 = g .
2 = e
2-Xx ~

it it B e =

(a) O

(b) ~I
“oa) 1

(d) =1

%f A’=}3’=C‘?ﬁ'ﬁ A’=BC, A z*
me

.- - ."
v U

(2) 2y—x A
) =2
y—x
xy o
(‘?) 20 —2) | e~
xy
@3 2(x-y)

_ |gIl hl tﬂ?hzﬁmmzaﬁfé:
e} g Suh @ A g R,
g it Ia € W ey A R R
Tdiar Y -rg aul ° }) €, 36 g
wE Tl <Y g AT 120 AN T ER
&t arg fra af /7
(a) 60 '
(b) 66
(c) 72
(1) 81

' [P.T.O.
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1. If2x+y<6, x<0, then
(@) y>6

(b) y26

(c) 0sy<6

(d) ys0

8. A taxi driver charges Rs. 10.50 per
km flat _falc in addition to Rs. 20.
Ajoy has rno more than Rs. 220 to
spend on the ride. Without
exveeding his budget Ajoy can

, trav_cl
(a) iess than 20 km
(b) less than or equal to 20 km
(c) exactly 20 km
(d) greater than 20 km

9. The condiﬁon whiéh must- be 9.

satisfied by the coefficients of the

polynomial . '

f(x)= X épxz +q5:—_-r, when ghe
- sum of its two ZeTo$ is zero is

(a) pgr=1
-(b) gr=p
() pr=9q
@ pa=r
! T4 P
CSDX/B

8.

Fﬁ. 2x+y<6, x<0,??‘

(a) y>6

(b) y26

(c) 05y<6

(d) y=<0

v e =erk 20 w0 Afafes % g

10.50 %2 ufd km ﬁsrmaqam%i

. 220 7R ¥ 7ht wrafn # = 7 =

m%_

(a) 20 km ¥ FH

(b) 20 km T1 358 FH
(¢) 20 km Fad

(d) 20km @ R

3§ﬂ3f(x)=x3—px2+qx—r%‘{[ﬂiﬁ
frg AN A TE R FagRFJ

S
(@) pgr=1
(®) gr=p

MYFEOOT.COM

W W nOTESmMYFO0T.cOM

@ pr=q

@ pg=r
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Al a0
N . :

10 If onc of the zeros of the poly-.

11.

12,

“13.

®) ptg-n

nomial (a +9)x? +13x 4 6a is

reciprocal of th~ other, then the
value of a is

(@ 2 ¢ NS
(b) 3 ..
(c) 4 | .
(d) 5

_If pth term of an A.P. is q and gth

term is p, then its nth term is

(@ ptn-gq

/

\»

() g+n-p

(d p-q-n |

Thc points (3a, 0), (O 3b) and
(a, 2b)

(a) _he on a straight line

(b) forms a triangle

(c) for‘mé an equilateral triangle |
(d) forms a right angle tn"anglé '.

If the co-ordmate of two- pomts A

and B are (5 4) and (3. -2)

rc5pectnvely Fmd the. co—ordmates
of any pomt P, if PA = PB and.

area ofAPAB 10

(a) (7,2)
(b) (1,-3)

() (4,5)

d (1,2)

CSDX/B S h

10.

11.

12.

13.

al
-

nf?: AL (a” +9)x? +13x+ 64 TﬂQ‘
Rie: ,‘rﬂ 1 I (reciprocal) B
a I TE M

(a) 2 ] - -
(b) 3 '
(c) 4

| (d) 5

U HITL X Fl pai % gt g

- p®, W I i T2 A

(@) p+n-q
() ptq-n
(€) g+n-p
(d) p-q-n

143 34, 0), (0, 35) 3 (q, 25)

(@) T E IO
(b) T onget = € _
(c) THaTEg E T T

(@ @mﬁgam% |

7% 3 frgafl A ol B % Fidwis =
@G, 43 (5,-2) @ RIPS
iy 3@ SR Ik PA =PB ™
APABEETQW=IO
@ @, 2) -

() (1,-3)

() (4,5) |
(d) (L,2) | | L
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' 14. AABC is aright hnglcd triangle, in

~ which:£C = 90° and CD L AB.
If BC =a, CA = b, AB =

c and

CD =p, then — : +.l

a? b

.

. (@ —=

., P
1

PR (b)_ '—2
L. ) p
2

a .

(c) ;3
1

d) =

- _cz

. The number of possible isosceles
triangles (excluding the case of
equilateral triangles) with integer
lengtits Of its cides such ihat the
sum of any two sides is 10, are
(a) infinite

(®) 16
(c) 13
(d) 8 .
Two adjacent sides_
parallelogram are 30 m and 14 m

~ and the diagonal joining the end,

pdints of these sides is 40 m. The
area of the parallelogram is
(@) 168m*
(b) 336 m?
(c) 372 m?
(d) 480m”

CSDX/B

of a-

id.

15.

16.

@

'AABC wF wawm o ¥, fed

ZC"=90° "3t cD L AB | 3R
BC = a.CA b, AB = cahtco =p,

nwl -

37 Ok e wAfER BEt A 3

 gem (gnarg fge & o) e

wﬁmﬁﬁﬁﬁfag&nﬁwm
103

(a) ¥
(b) 16
() 13
() 8 .
o i age A z}w KL
30 m 3 14 m T F YO F -
ﬁgﬁaﬁﬁwﬁaﬁﬁﬂa‘ﬂmﬁ

- 40m%lmmag§amém%

(@ 1680

(b) 336 m’
() 3712m’
(d) 480 m’

—— WPRR Sogr
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~ sothat OQ =12 cm. Length PQis -

1o the given figure, O.is the centre
of & circle : PQL and PRM are the
ta \\\.v\ at the points Q and R
spectively and S is a point on the

Cire 3 such that ZSQL =50° and

ZSRM =60°. Then ZQSR =?

@ 40°

(b) 50° || MYFOOT.COM
(c) 60 wuww ,nOTESWI/'l-’fOO'T, cOM
(@) 70° o

A tangent PQ at a point P of a 18.

circle of radius 5 cm meets a line
through the centre O at a point Q

)
() 13ém

(¢) 12¢em -

(d) 85cm

CSDX/B

17 A SR, © 9w ey, P(-.; e

A PRM wwefam ey wg g
B QaﬂtR%amgaqx@m@
WW%%ASQL 50° 2
ZSRM =: 60° @ LQSR =2

(a) 40° o~

(b) 50° -

©) 60° - 5
(d) 70° -

5anﬁwéaqaﬁqa;mﬁmpc

St ga AP W et R}, FWEH IR

A didt 7 YE W QS ¥ 4
OQ—Qcm?hPQﬁFrﬁﬂfﬁ
(@ VI19cm

(b) 13cm .

‘(c) 12cm

(d) 85cm

[P.T.O.
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19. In -the given figure, a circle. 19,

20.

@ 93,5

inscribt_:d“ in a triangle ABC,
touches the sides AB, BC and CA
at point D, E and F respectively,
If AB = 14 cm, BC = 8 cm and
CA = 12 cm. The lengths AD, BE
and CF respectively are |

b) §5,3,9
(c) 9,5,3
d) 59,3

The areas of two simflar'triangles 20.

are 25 cm® and 36 cm’. If the

- median of the sinailer tnangle is

16 cm, then the median of the
larger triangle is

(a 12cm- ) '._‘ .
® 15em - ° . -
(c) 10cm '

(d) 18cm

If four times the sum of the areas 21.

of two circular faces of a cylinder

" of height 8 cm is equal to twice the

curve surface area, then diameter
of the cylinder is .
(a) 4cm

"~ (b} 8cm

CSDX]B : R L 8 .

(¢) 2cm

(d) 6cm

"""'?Wﬁﬁ gt ABC 1 s
Bt ) spEnait AB, BC 3l CA @Y
W ﬁw’intaﬁwmmﬁm
B1 afd AB = 14 cm, BC = 8 cm 2%

CA =12 cm, @ AD, BE ain CF H

ma At gt

(@ 9,3,5
®) 53,9
(©) 9,5,3
) 5,9,3

2 wn Aot F &Eed 25 cm? AR
36 cm® 31 IR BR P i e
10 cm © @ =2 B i wizm e

(a) 12cm
(®) 15em
(c) 1'0 cm.
(d). 18cm

L e e @ R 00

i} wa A, ﬁ!ﬂﬁﬁch% FA
FAta Herhl & AFBal & AN S 4 T
3, %m%a%qs%a@%mm

f&aq'qn‘oum%

(a) 4cm
(b) 8cm
(c) 2cm
(d) 6cm
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~

hemisphere mounted by a hollow
cylinder. The diameter of the
hemisphere is 14 cm and total
height cf the vessel is 13 cm. Find
.the inner surface area of the vessel

(a) 572 cm?
(b) 562 cm?

 (c) 625cm?

23.

24..

(d) 526 cm?

A cone, .a hemisphere and  a

cylinder have equal bases and
have the same height. The ratio of
their volumes is

(@) 1:2:3
() 2:1:3
(c)2:3:l
d 3:2:1

If 90° < 0 < 180°, and sin 9

‘_Utl'a-)

then tan 0 is equal to

© 22.. A vessel is in the form of hollow 22.

‘ﬁ\iaﬁq@m@leﬁrﬁé%m
¥ R 0 v draen Ao st
Bl M B =y 14 em 3 3w 3
41 R Fa T 13 om B @A
ATateh gl Bamer 3

~ (a) 572 cm?

23.

24,

EMYFOOT.COM

W' .nOTESmeOoJr’. cOM

CSDX/B

9

(b) 562 cm?

(c) 625 cm* -

(d) 526cm
@?@,aﬁ*ﬁmsﬂz@am%m
aﬂtm@@m%izﬁsm
m% V)

- .
(@) 1:2.:3 L

) 2:1:3

(c) 2:3:1 *
d) 3:2:1 -t

afe 90°<G<180° 37?1”{ sin 9= -:;-.

‘tanemma‘rm

~~ ~
< T

b
-

|w -5“"’ S

!

(d)

[P-J-
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‘ '25.

7

lfsec 0 + tan 0=m,
then the valuc of "—’2—:—:- is
. m .’
(a) cos©
(b) sin®
‘ (¢) tan 0
(d) cot 0
26. The angles of depression of the top 26.
and the bottom of a single storeyed
building from the top of a-
multistoreyed building are 30° and
45° respectively. If the height of
the multistoreyed building is
12+ 45 m, the height of the
single storeyed building is
(@) 4AB+Im
(b) 8J3-9 m
(c) 8m
" .(d) 4m
27. If the mean of.n obscrvat'ons 217.
aji,afz,af;, .., af, is aF then
(a) aF=afi+af2 +af3 +.. +afn
- ®) “a(fi+P)+alfa+F)+e
, +a(f,+F)=0"
(c) (afi- —aF) +(af2-—aF)+
+(af,-aF)=0
(d) Z‘(af:-aF)=a '
i=
10

CSDX/B o

]
\

o= .

25. uf% sec O +tan 6 - m,

me - l
m2 +1

(a) cos0
(b) sin®

W -nrmz\rn |

.(c) tan 0

(d) cot®

gt W, e e i
(12+43) m ¥, % fr A 2 7w
Tt W % R Wi T F A
H0] FHT: 300 -l 45° %1 T EEE
e  Fars @

() 43+1m

(b)- $J3-9 m

) 8m

@ 4m

R n Sl afy, af2, @f3senr @a

mal'-‘@'cﬁ "

(a) aF = aﬁ+afz+df3+ “+afy

() a(fi+P+a(fa )+
+a(fu+P=0 .

© (ah- aF)*‘(ﬂﬁ"“F)“‘
+af,—-aF)=0

@ (afi-aD)=e
i=l
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28. A two dlgxt numBer is written at  Z8.° TF A it aTeh e (2 ¥ T

. random (digit at 10s place is non- I3 el %) Ed H@% @ s ':
ser0). The probability that ‘the T % UE °N Fen Sy 40 ¥ o i
number -will be even but smaller g‘ﬁ;ﬁmﬁmg}rft
than 40 1s
. : "
| = a) — |
| @ 45 " 45 a3
i 4 4 Vo
b) — b) — '
i | (b) 3 (b) y
| 1 I
© '5 (c) —5'
L1 1
d) —. -
(d) 5 | (d) e .
' 29, In a class in which all students 29. @mﬁmwmam@é
practice at lcast one sport, 60% of ~ 3[Aw@ @ Wl 81 60% TH FAT
: students play soccer or basketball | HTERSATR 3N 10% O 2H 99 &8
;- and 10% practice both sports. If 21 afe T a1 H 60% TH FA -
: tnerearealsoGO%studentsthatdo @ﬁﬁa@gﬁ,ﬁg@@r
: not play soccer, the probability A, F Fad NTEIR] T i TS
that a student chosen at random 2t S
~ from the class, pla} j soccer only, i 1s _ ;,Q‘ <D
@ 0.3 ) ,.-- T | (2) 03 <3N
®o4 . .- - (o4
(0 05 - ' (c) 0.5 '
| @os - - o (d) 0.6
30. Which one.of the followmgts least 30." fr= 3 fvm w1 W S Brm, Al
if mean value of X, X= 14 - : ' amtnw,_x= l_4%
(@) T(X-12)? : @ Tx-12)7
®) T(X-10) - (b) TX-10)?
© T(X-15) © L(X-15)?
@) ZX-14)’ @) TX-14)?
l CSDX/B 1 | [P.T
i
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31.. The famous Mehrangarh Fort'is 31

"-.’\

32.

- person to have won two Nobel
- Prizes individually for

33.

situated at which place?

(a) Jaisalmer T
(b) Jaipur . ||
(c) Jodhpur
(d) Ajmer
Dr. Linus Carl Pauling is the only

(a) Chemistry in 1954, Peace

‘Prize in 1962 .
(b) Peace - Prize in
Chemistry in 1962

(c) Physics in 1954, Medicine in
- 19€2

1954,

- (d) Medicine in 1954, Physics in

1962

The receptor of sweet taste is

located at which part of human

tongue? - .

. (a) Base of'tongue

() Tip of tongue

34.

.. CSDX/B o

" (c) Posterior medlan part of

tongue
(d) The edges of tongue

Which of  the followmg is not 34.
correctly matched?

(Co,unu_ies')‘ |
South Sudan

East Timor

(Capitals) -
(2) Darfur = -
(b) Dili -
(c) Dakar -
(d) Brussels -

Senegal
‘Denmark

EMYFOOT.COM

32.

33.

Nt 61wt Pren wei o 37

(a) Xrranye
(b) =t

Wir WnoresMyfow com (©) 3wy

(d) rsmT

2. ferm wiet ifem a7 s fs 3

e =afema w0 A 2 FEm e
firt &1 73 7 A Preat & o

(a) FREA  (1954), A TEEE
(1962)

() Wifa g (1954), FEE

(1962)
(c) Feferam (1954), wisiE (1962)

() R (1954), FEfe (1962)

e e wR 3 faee e S

s i R B 52

(a) ST R -

(b) St HrAET

(c) Gﬁﬂ%tﬂ%%wﬁ gy i

(d)Cﬁ\ﬁiﬁWﬁt{t .

ﬂﬁﬁiﬁﬂm‘ﬂﬂ?ﬂ@ﬁ"ﬂﬂwﬁm

¥ o
RERED) @) . -

(@ Ao - CREEH

o R - gl fr

© T -

(d) m - m
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35. In

36.

37.

38.

1972 the

world’s  first
nationwide Green. party was
founded in
(a) Norway

(t) Netherlands
(c) Denmark
(d) Australia

India’s first Insect ‘Museum has
been opcncd in whlch State? .

(a) Kerala

(b) Assam

(c) Tamil Nadu K

(d) Odisha _
Way of removing pollutants or
toxic waste from environment with
the help of living orgamoms is
called?

(a) degradation

(b) bioremediation

© intégmted diseasé‘ manégement
(d) disease control

The Red Cross, a worldwndc
humanitarian aid provider, has its
head office in . .

' _(a) UK

CSDX/B

(b) USA
(c) Russia
(d) Switzerland

35,

36.

37.

38.

13

wvzﬁﬁmﬁmﬁhm m
T, il e v :

(a) Wﬁﬂ"

(b) fzrdvz if
(c) o if
(d) Imegferm i

@ 37

(a) A

(b) ITm

(c) dferrg

(d) anfsm -

wafrr ¥ R R @ PEk]
Raﬁ#u@wra’ia‘ta—a@ﬁa?tm
Bl B, 3N T FEA 7

(a) &

(b) Stk 3=

(c) @?ﬁ?ﬁﬂw
(d) ﬂnﬁzm |

‘Riﬁm Y LCo ﬁna wiT AFe
© WEWIAr & el G ], It eI
Fgl 37 '

(@) 3FH

(b) qWE.T. R
(c) &=®
@ ferrevs 3

[P.T.!
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39. The theory of ‘economic drain of
India’ during British rule was
propounded by?

(a) Jawhharlal Ncehru

(b) R.C.Dutt

(¢) M.K. Gandhi

(d) Dadabhai Naoroji .

Token' currency in India was
introduced by |

(a) Qubuddin Aibek X
57 Titutmish
(c) Ghiyasuddin Tughlug A
(d) Muhammad bin 'Tughh'lq_
The battle of ‘Ghazwa Ahzab’
took place in
(a) 4 AH
(b) 5 AH
(c) 6 AH
(d) 7AH-".
42. Islam ordains faith in

S Prophet Muhammad only "

40.

41.

39.

40.

41.

42.

(b) Prophets Muhamniad, ibrahim -

and Musa only -

(c) Prophet
all the

Muhammad and
Judeo-Chns}qan

Messengers of Godonly. .

(d) Allthe Mcssengérs 'of God

CSDX/B . T g

. .
:Tee n

. >
. .
o e
. o - .
4 -« & "
v

.

WnwW.nOTES m/YanvT. cOM

14

MYFOOT.COM

TSt T 3 T e ¥ Il ST

1 firgia P X R an?

(2) SEREE o8

(b) ame.x. zu

(c) TH.&, Tt

(d) Emeg Ash

2 T W | R 3 E A A7

(a) T T

(b) Fegabm

(c) TR g

(d) TEwR for g
“TTSe ITESE e orel Tl ¢

(a) 4 Toerll

() 5T

s v - B—H
(&) U o

(@) 7 ==t

| Wﬁmmimaﬁmmém%?

(a) Tord YR EER W

() R e e, T S

W,
(c)m&nmgsmsﬂtm* '
| &égqmﬁu@—fa@%m_

'q( .
@) a@"b%mﬂmq{
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e The first school whs. founded by 43
/' Sir Syed Ahmad Khan in B

'(a) Ghazipur

. (b Aligarh
(c) Muradabad
(d) Delhi

44. Prophet Yahya was the son of 44,

(a) Zakriya
l (b) Yunus
' (c) Isma'il
(d) Tlyas
In Islamic history the ‘most 45.
authentic book after the Quran’ is
“known as
(a) 3ahih Muslim
(b) Jami’ Tirmidhi
(c) Sahih Bukhari |
(a) Sunan Abu Dawud °

46. The First Battle of Panipat was 46.
fought between the forces  of
- Babur and Ibrahim Lodhi-in the -

year . -
* (a) 1515 |
| : {sp0 - L)
) " (©) 1526 sy et
@ 1556 . e

1t AR EW <t F 9 g
Tecit el fhm ad g8 o7 -

(@) 1515
(b) 1520 -

(oY 1526

(d) 1555

T
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_ 47 Whlch Mughal Emperor shifted 47.

49, To combat the British, Tipu Sult

- 50. A

his capltal from Agn to Dclh\'7
(a) Akbar

() Aurangzeb

" (¢) Shahjahan:

(d) Bahadur Shah

48. Muslims of Malabar are callcd

(a) quﬂlah

(b) Arabs

N Traders

(d) Migrants

sought the help of
(a) Dutch

(b) French

(c) Portugese
(d) Russians

urangzcb Wwas the disciple of 50.

whu:h sufi samt'7

(a) Mujaddid Alf Thani

an 49.

(b) Khwaja Muhammad Masoom |

(c) Shah Wwalinllah
(d) Baba Farid GanJ Shakﬂf

Rt wenfadi? - |

(a) ATHAT
(b) siUra

(©) RUGE

-
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51. A ball ‘s
N .

53,

.\’;.’-‘!'." r;/-

upwards with the velocity of
20 ‘m/s from the top of a
multistorey building. The height of
the point from where the ball is
thrown is 25 ™ from the ground.
How high will the ball rise from
the ground? (g-IO m/s’)

(@ 20m
(®) 35m
(c) 45m
(d) 50m

a circular track of diameter 200 m
in 40 seconds. What will be the

dlstance covered at the end of 2 _

minutes 20 second<?
(a) 2200 m
(b) 1200 m
(c) 700 m
() 200m -
A vehicle starting from rest aftéiné
a speed of 72 km/h after covc:_ing
a distance of 100 m. If the mass of

-|."

thrown vcrt.ically 51.

. An athlete completes one round of 52.

53.

the vehicle is 500 kg, the force .

exerted by the cngme is
(2) 20N e
(b) 100N
(c) 500N m
(d) 1000-N SMYFOOT.COM,
WV RO TESMYFOOT.cOM
CSDX/B

| -
(d) 50m .

Wﬁ’mﬁmmﬁ-ﬁa 20 m/s
W An R Foah Ban 3 Ty £ i w6
"l ) ek et A it 0 h Y
qf-ﬂ 0 waw & 25 e 31 Pt S

W T geh R w3 e
(g“lOm/q) 5

(a) 20 m P A ¥

() 35m i, s 7
(c) 45m -
w Twelle g e, B o=
200 m B, F TF T2 40 T3
@ 2l 2 Bz 20 BFE S A= 1
frat it @ =m?

(a) 2200 m
(b) 1200 m
(c) 7¢0m

(d) 200 m

T T Rrraen A e 8 1
tﬁa-ﬂwaﬁﬁ%m”m
R W S 21 AR T =
sooﬁ?frm%a‘lmﬁﬂ?*ﬁv

C TR

" (@) 20N.

17

(b) 100N
) 500N
(d) 1000 N.

[P.T.
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4. A ball of mass 0.1 kg strikes a' 54. -\ fiz-Rre Femw 0.1 Freom 2, f

5S.

wall normally with ‘a_speed of
30 m/s and rebounds with a speed |
of 20 m/s. The magnitude of
change in momentum 2f the ball is
(@) 1 kgm/s |

(b) 2kgm/s .

(c) 3kgm/s .

~(d) Skgm/s .

attraction between a  stone
weighing 2 kg and the earth
weighing 6 x 10 kg is 19.6

“Newtons. What will be - the

acceleration produced in the earth?.

(a) 9.8 m/s’
(b) 19.6 m/s’
© 2.2x 107 mss’

. (@) 3.3x 107 m/s’

T A A 30 m/s R TR R T

. R 20 m/s e TR A A A

%lﬁzﬁu’r&nﬁq&a’&amw%

(a) Lkgm/s .
(b) 2 kgm/s
. (c)-3kgm/s

 (d) Skgm/s

| e A T e S 7

The gravitaﬁd_nal - force -of. 58

ol 19.6 A 3 TS TR H T
2 kg 3R get T FAIH 6 % 10% kg 21
qmﬁ%mmw*\ag‘m?

(a) 9.8 m/s’
(b) 19.6 m/s’

~24 2
(¢) 22x%107 ms

@ 33x10% s’
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~ 56."Two objects ‘A and B are 56. a\-n@r‘/\mnwﬂﬁsa\ém‘g.

immersed in watcr;. The masses of RChs AFM B 200 kg T41 100 ke
the objects are 200 kg and 100 kg & ol 3% 3MPrs ey - oa 3N
;cspcctiv_cly and relative densities pp &1 af? A LA ST 2 m'3
are pa and pp. If volumes of bolh‘ arg B, pp 30 wEg A, oA m}ﬁ_;
the object are 2 m’; then the ratio. e o ST B
of relative densities of B, pa and '
A, paare '
1 I )
— a —
(a) 5 X ‘ ( ) 2
1 T P
- b) —
(b) 3 ) 3
. l l
S c) —
© 7 © 5
. 2 2
d) = d) —
@3 @3
57. What is the work to be done to 57. 3R faheft %R = SSEH 1500 kg 2 @I
increase the velocity of a car from ... 3I§% T &l 36 km/h & 72 kmh TS
36 km/h to 72 knvh, if the mass of . TgM i fraT o/ sETIRmT
the car is 1500 kg? _ ‘ '
@ 75%10°) . (@) 15x10°]
(®) 150 x 10°] T ) 150%10°)
©225%10°5 () 225x10°)
- (d) 300%10°] _ ' o (d) 300 x.10% J
CSDX/B ' 19 ,
L3N WS
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'CSDX/B

" The motor of a pump lifts 30 kg of 59

A certain household has consumed | 58
250 units of energy during a
manth. How much energy is this

in Joules'?

(a) 9x10°]

: 8
(b) 9%x10°J . (b).9%10%]

(€) 27x10°%)
(d) 27x10°J

water per minute to a-height of
6 m. The power of motoris
(g=10m/s%)

(a) 10 W

(b) 120W

(c) 30 W

(d) 90w

A man stands in .between two 60.
walls and bursts-a balloon. He
hears two successive echoes after .
0.5 seconds and 2.5 seconds. The
distance between the walls when

the speed of sound is 332 m/s, is

. (a) 415m.". || ' | |
(b) 498m ' MYFOOT.COM
) 18 WwW.nOTESmeOwT.oOM
c m
(d) 598 m
20

- '?“‘

. T O A O B # 6 i T

MWﬁ,@ﬂﬁﬁﬁmﬁﬁzsoiﬁi
T %3 78 S St 1 Pt vl

(a) 9%10°]
(c) 27%10*J

(d) 27 %10’

% 30 kg UFR 33T 31 Fet F A 2
(g =10 m/s?)

@ 180W. | -
(b) 120 W
(c) 30 W
(d) 90 W

S ameant

o aredt A Al & F= w9 R I
T - eI A B TE A FTER-

SRy 0.5 TS 3R 2.5 IFS T

mwgmﬁaﬁﬁw 332 m/s -

N R e S L

_(a) 415m | '

(b) 498m

(c) 518m

(d) 598 m

1
=T
e . SR AT e NI T s ™ s
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61.
- parallel) are required to carry 5 A
ona2220V line?

(@ 2
(b) 4
() 6
@ 8

62. A manuscsa 100 W bulb 8 hours 62.

a day and an electric heater of
300 W for 4 hours a day. The total
cost for the month of November at
the rate of rupees 4 per unit will be

(a) Ks. 160
- (b) Rs.240
(c) Rs.320
(@ Rs. 600 BT
¥ .
s ~- “ b ]
L P
.;;_, r A . o )
. .’)": (' /r ‘:: .
~ t L
. g / ~
/ ‘o
= .
¢ '/‘

!-_Iow many 176 Q resistors (in 61,

176 Q sf % frY ufdw =
wefmn i witra wt P 220 v %
Preger st @ v @y 5 A Praga wmy
wanfa 97

'(a) 2

(b) 4

- (c) 6.

(d) 8

q#-:matﬂqa: 100 W =z ufafg g 72
I’ @ forga €1t 300 W I w

sl 4 92 wim & @ 21 4.00 72

wia gfe 6 = A EEr & w9 = T

e feramn grm?

(@) 160TR™A -

(b) 240793 _

(e) 320€@ 7L % L.
(d) 600%R S0

-
o«
.l“
U
-
\

. / N
o
. 2
0 \ | ~
- ] - . K o'
— A 3
2 -, ‘
e
. (‘_. N
-~ _—
[P.T.O.
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63. Which  one of  (he following

64.

statements i not et

(a) An electrie  motor converty
mechanical enerpy nto
clectrical enerpy

(b) An electric  generator workn
on the  prineiple ol

. clcct‘*omngmlu. induction

G\,

(c) The field at the centie of n

long circular coil carrying
current will be parallel straight

lines

(d) A wire with a red insulation is

usually the live wire of an
clectnc supply :

which of the following is not a
source of bio-mass energy?

(a) Wood
(b) Gobar-gas

- (c) Nuclear ene,fgy-_

65.

(d) Coal
An object is placed at the centre of 65.

curvature of a convex mirror. The

- distance between its.image and the
~polei is -

(@) Less than f

P

(b) between fand 2: -
(c) equalto2f
(d) greater than 2 f

64.

BT vll‘-'llf-lri i oo 1w T EARAS |

(wy freepe e wibes a0 w1 P
g W et o %

(h) itU it 'I'M u(m 7
(e e el wern

(¢) Tl ey ot G paht
l,ﬂ”h he A L (’l[’fl 70 et o

i1fy v T, ¥

(d) @ fipgpaiv AT 7
ferggera art 170 ¥

criRd|

Eﬂi‘aﬂmaﬁw%—"ﬂﬂ =
N RRE T E S IR T
e

V(@) fATA
NOWARLFTARE

(¢) 2f T
(@) 2/ Q9w

Scanned with CamScanner

R w— T—



67.

5.0 dioptres - for correcting his
distant vision. What is the focal
length of the lens required for
correcting distant vision?

(a) -0.20m
(b) +0.20m
(c) -0.02m
(d) +0.02m ‘.

The refractive index of glass is -:—

- and water has refractive index % "

If the speed of light in glass is

2 x-10° m/s, the speed of light in

water in m/s 1s
(a) 1.50 x 10°
(b) 1.78 x 10°

_66. A person needs a lens of power 66.

ﬁ'ﬁ!ﬁ = @ I [ A R g
mﬁ—mmﬁ%m—S()g]ng
%%H?ﬁmmgla{?ﬁg@q
w\mm%mmaw
wreha gl @ grft?

(a) ~0.20m

“(b) +0.20m

(c) -0.02m
(d) +0.02m. -

67. a?amrmaﬁqia?-;-%sﬂtaazm

(C) 2.25 x 10® 2 -“

(d) 2.67 % 10°

ve .-.,-.--—

CSDX/B

23

m;‘-‘%lqﬁmmhﬁaﬁ
2x 108 m/s @ @ WehIi 1 97 5T |
foraaT m/s e

(@) 1.50 x 10%:
(b) 1.78 x 10®

- (c) 225 x 10°

(d) 2.67 x 10°

68. The presence of the double laycr 68. Wﬁm@aavﬁﬁﬁﬁﬁam
in colloids accounts for FT a?ﬂ %?
(a) optical pmpemm_ ST @ -q-,- ﬂ = |
(b) Kinetic propertxcs S (bj mm .
(c) electrical propcmw © Wﬁm
(d) stability of colloxds '|'|' (d) Feiigs Hi
MYFOO'l;.COM
W, rz/O:[’ESWuYanvT. cOM

(P.T.O.

W —_—
o X AR S
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. 69. The intcmal encrgy of a molecule ‘6'9. - e ::';{ra:ﬁ ATl = 2t 2 '

-is its
(a) translational energy o (a) warrial T
(b) rotational energy (],)' woff
(c) vibrational energy | (c) I F=
(d) all of these . (d) 70 it

70. Which is not true about the solid 70 Preafaftaa 11 2 3™ o B3 o=
state? : -g-g]-,‘gf%';
(a) they have deﬁmte shape and ~ - (a) 3.13;1 ST T mﬁ%am

- volume SN R -
(b) they have high attractive X (b) ECED En'gaﬁ It amad
forces among molecules a5 7R BT 2
(C)/ﬁh(. have hlgh vapour (©) m I 2a | ER i 2
.\_~" pressure ‘3 .
(d) they have high density and (d) TR T g s @ =
low compre551t?11_lty \,[ (compressibility) T T e
71. Hydrochloric ~acid is sold 71 TR 12.0 AiE F EREAS T9S
" commerciaily as 12.0 M solutlon. ﬁﬁm%l HC1 ¥ frad Wi 300 Bt &
- ‘How - may moles of HCI are in -@iﬁ z[ﬁ-qgfaaqw 12. oMaﬂ%? ;
300.0 mL of 12.0 M solutlon’? :
(a) 4 S - (2) 4 -
(b) 36 ) - (b) 36
. (c) 36 (o) 36

(d) 12.3 | (d) 123
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72, Copper metal has two naturally 72,
occurring isotopes : Copper — 63 . (isotopes) Cu— 63 (69.17%.: wreafrs
(69.17%; isotopic mass = 62.94 TEMA = 62.94 amu) V?i’ Cu — 65
amu) and copper — 65 (30.83%; (30.83%; ety W 64.93
isotopic mass = 64.93 amu). What amu) | TR A qunfires wemm e
is the atomic mass of copper? N7
(a) 62.94 amu (a) 62.94 amu
(b) 64.93 amu - (b) 64.93 amu
(¢) 63.93 amu (c) 63.93 amu
(d) 63.55 amu (d)-63.55 amu
73. The correct order of atomic radius  73. Wﬁmmmm?ﬂﬂ
is ' . '
(a) S=F=0 (a) S=F=0
(b) F>0>5 (®) F>0>S i
() F<0<S (c) F<0<S
@ F-0<S (d) F=0<S
74. An element has two isotopes X>* 74. w7 Fores QA amenfes XPwE X
: andx”foundmtheratloofB‘l vq:i‘dﬁu%:a‘lgmﬁmm*%n
in nature. The average mass Of thc —-EIH-EFI g e ?Fﬂ :
eEEEﬁTs R L IR
(a) 35. (8) 35
b)40 . L. . (b) 40 -
. ) ~ /7 oo *
@355 e (©) 355 il
,).35 L @ 36 N
| L S Lo
(- "7 ‘ ‘ . .a ¢'-I\| ": \
-~ '., \ ¢ ' \)' "/ c— -t
~ P 1 . .. Y, -
cr . . . 7N
. : el N -
. / ’l'\ / o P \ ‘ . .
- rf. rd / \‘
‘ cL L ‘A _—
. | - 5 g ) - '
cSDXB . RS o
-/ v
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79. Alzoj .

- 75. The compooI”d showing addition  75.

reaction
(a) CHyy
(b) CH,4
() Gilly
(d) CyH,
76. Compound
melting pointt 18
(a) NaCl
_(b) Ca0
(<) .MgCI;
(@ LiCl
77. Correct gsder  of
conductivity/ 4
(a) A|>cel>A8>A“

showing - maximum 76.

( ) Ag>e‘uf ‘u- .‘.::
(cj Ag>dp>Au?Al
(d) Au>C#>Al>As

, : S [ 1
7§. Tomato coffIns L 1

(a) Citric aefd |

(b) Acetié aeid

(c) Lactic aEid
\(/d! _Oxalic actd

‘react
producing

(a) AOH);
(b) Hs

(c) NaAlO:
(d, N .1A|@2

CsDX/B || OTESMYFOOT.COM .

WuwW.nOTES W(/YfOO"T. cOM

electrical 77.

awg  MNfirs

L \
. .

N wftdfaa
(addition reaction) Prraran ¥

. (a) CiH,

(b) CH,

(c) C,ly

(d) CyH,

% N Pram e wokt wfirs 3

(a) NaCl

(b) CaO
(c) MgCl;
(d) LiCl -

(@) AlI>Cu>Ag>Au

(b) Ag>Cu>Al>Au

(c) Ag>Cu>Au>Al

(@ Au>Cu>Al>Ag
mﬁﬂamm(acnd)wt

(a) TR Uiz
(b) mm' v

eelon

(es T E3
i~ v ufire :
+ NaOH # TenfE B 3
il ﬁh"ﬂ
(a) AI(OH);
(b) H:
(¢) NaAlO:
(d) NayAlO:
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80. The substance which can'produce 80. YA werd S A e

CO; gas with baking soda solution firert CO, Ve T ‘%:. -f.aa'qq A
is . ' L
(a) ethanol . L (a) WA
(‘b)'vegetable oil o (b) APRTA FE= -
(c) vinegar ' o (©) fRrF
- (d). soap solution | @ Wmm 4.
'§1. Which is most acidic o 81. Pr=fuafioa % Wl wawey sy g
| ﬁ’@ﬁcjuicc ’ o " (a) ST -m;m
(b) Lemon juice S (b) A
(c) Purewater ' (c) Y& |
' | (d) . -
: , (d) Blpod B o
1 " 82. Which is an olfactory indicator? 82. ﬁq%ﬁgaﬁ@am@ﬁqmg
_(awﬂhyl' orange o (a) N 2
(b) Phenolphthalein  (b) FATaRITE
(c) Vanillaextract - ... . (c) AT H IS
(d) Red cabbage extract (d) =t =l S&
uig H,S0s o
{583 -Whatis X' 7 . o +2-83e CH;CH0H —— 2= X
’ :l%—l_'-lsnﬁ"\n-.n ... ‘conc. HZS 4 '”mwﬂ ey 7 : '%A Wil e ’
. CHCHOH—Zmp— X . i X» T R
S @CHCH e . @ CH;CH:_ -
P (®) CH=CH, .- - .1 ... (b) CH;=CH,
. @tHscn -+ Y (9 CHsCH
(@ CHcoon  © 0 T EI (d) CH;COOH )
R
CSDX/B
| ' 27 [P
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.84. The . molecular .fonnula' of 84
unsaturated cyclic liydrocarbon is .

(@) CeHyy
(b) CeHjy
Rty (c) CyHsg -
(d) CsHyo

. Oxygenated blood from lungs goes  85.
directly tothe - :
(a) Right atrium

\jb)/Rigﬁt ventricle

~ (c) Left atrium
- MYFOOT.COM

T (molecular fomﬁla)ﬁm
(3) CoHyq |
(b) CeHyy
(c) CeHg
(d) CsHyo

FiFfer ot wha gE A B

s oeveusdes A v 3

(a) 3 Aferg
(b) =i Frea
(©) =i e
(d) =i Fre

(d) Left i ;
(d) Leftventricle o . OTESINYFORT.cOM
86. The absorption of water due to 86, @fEFy W ¥ O o wra e T S|

expenditure of energy is called
(a) Active ai:sorption.
(b) Passive absorption
: (c) Osmotic absorption
© (d) All of the above

b% The gromh inhibiting hormone in 87;
7. plangsi's o
(a) Auxin
(b) Cytokinins -
- ZAbscisic acid
(d) Gibbgrellins -
(] ~ . . " /
. . J
CSDX/B i

......... A &

e ——
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Hah A B - o

: @ Cholera is'spread by

89.

90.

(a) Breathing in infected air

(b) Drinking
water

(¢) Handshaking

(d) Bleod to blood contact
Cold blooded animals are
(a) Which have cold blood

(b). Who can regulate thclr body
temperature

(c) Who feel coldalot

_(d) Who cannot regulate their

body temperature
The evclved oxygen during
photosynthésis comss " from the
breakdown of

( a'y/Glucose
.

- 91

(b) CO,
(c) Water

(d) Chl orophylt‘

. -__.‘---—- —
e ..,.-u— .

of con'tmninntcd

88. wiem mmﬂmg?

89.

() Wmﬂmuéﬁ_a

(b) "= aEh ﬁ

(c) mﬁmﬂa

(d) sfitm = sf* ey
armard) =g B A T 87

(a) ﬁr-mmmz’m%

(b) SN 3T T Fl A A= T

© a}mmﬂmm'@t

90.

(d) S R 97 H1 99 T T2 w4
3

TFNEE W 0 S SEEe

Pt } v e wwe F ot ¥

() =R

(b) A SRIATFIS
(c) 5«

(d) FERRe

The structure produccd"'!ong the 9T i it whdl | W Tﬂn'iﬁ'

leaf margin of b'yophyllmn ard
after falling on soil dcvelops intc a
new plant is

h —

(a) Seed ,u*
(b) Spore - —_ .
(c). Bud . :
(d) Fruit S

CSDX/B

29

AR AR TN AR A RT

AR 2
2o

(a) '&‘H .
() ¥ .
(o)
(d) &

[P.T.0
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92. )In 1987, the United Nations 92,
Environment Programme (UNEP) e

succeeded in forging an agreement
to freeze CFC production at

(a) 1980 level
MY 1983 level
"

(c) 1986 level \ ﬁ -

(d) 1987 level \

{ 93.) Water harvesting is an age-old 93,

practice in India, as in Rajaslhan it
was through

" (a) Abhars
(b) Kulhs

(c) Bundhis
(d) Khadins

. Blood pressu'ré and salivation are 94, -

controlled by

(a) Cerebrum

(b) Cerebellum

() Hypothalamub,(
_\/d)_Medula .

9% Cells arise from pre-exnstmg cells 95,
was proposed by

(2) Robert Hauk)Q B
(b) ”Robert Brown x
(© Purkm_;e %

yow :

CSDX/B

1987 % wqw uy wafaon weimg
(UNEP) i wafmfy =it 5 CFc %

TN ) 0 T R e T T
EEENERITIY

(2) 1980 1ot
(b) 1983 Tar
(c) 1986 %t
(d) 1987 Tt

mumumﬁm'rrr-ﬁm}m
PENRIE o b

(a) 3@
(b) =it .
(c) =™

- (d) aifex

T S AU AT {salivation) =t

- = a1 Fafia s 2

(a) Wik
(b) 3rgaftass

- (0) TR

@ Fgem . '_
BRI R Tl 32

(a) Robert Hduk '

" _(b) Robert Brown

(¢) Purkinje =
(d) Virchow

|| (OTESMYEOOT.COM

W W ROTESmY FO0T.cOM
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96. The phcnotYPiC ratio in Mendalian -

- _-dihybrid cross is‘ .
S (SR

9? | Which of the followmg is a correct
4’ # sequence of classification?
. @ hylum, class, order, family
(b) Phylum, order, class, genus
(¢) Phylum, class, family, order
(d) Phylum, family, class, order

98. In plants water is conducted

through
. \@,)&cssgl elements
(b) Companion cells
() Sievecells *
(d) SclereidsX

9,‘).,L Whlch of the followmg is the
“fimction of testes? . Esax Aad i

'u.h&"*

etion of testosterone* —

g ! Sec;euon of cstroocn e

' %@Eﬁmebda
i (b) EChlﬂOderm ata

(c) Coelenterates™

(d) Platyhelminthes

el

. CSDX/B

i@!ii!_ﬁ*

e ——— s s —

B8 '('57 Formation of .,purm * B

96.

97,

98.

99‘

feat F ITEEHE (dikybra) wia #
e (phcnotyplc) 313‘11‘6 B2y

mame R A
(@) 9:3:1:3° 0
(b) 9:2:2:2:1

©) 9:3:3:1

(d) 3:1

sfat @1 39 H@ﬁﬂfﬁﬁﬁmgﬁ

_ Gtk R4 ‘-
. (), FIEEH , A, AT, it

(b) -3, AT, FAE, STFH

{c) wrgem, @eid, i, 78T

(d) . wem, ¥fireh, T, AT

38 ¥ S =1 gfEed g el & ear
8?7

(a) =feamr

(b) @rdt =hif3rET

(d) FTEatigw L
qwmmmzf%‘? Staat ¥,

(2) TR T O ,
) e e
(c) Q@ﬁqmm “ | 4‘

~(d) 2 (a) @ (b)

v 0. TN A (Flame ce]ls)f*‘ﬂ TifFFT( E
s R T *7 ‘ '
o (@) e

(b) g | ¢
(c) ¥e=td Cu (o
(d) weRfArfw St
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ALIGARH MUSLIM UNIVERSITY, ALIGARH

Key S.5.8.C (SCTENCE)/DIPLOMA IN ENGG. Admission Test 2019-20

Q.No, Answer

81

B2

R3
B4

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

100

glol>|>»|ololo|o|a|alo|o|=|a>[ajal=|a)>

Answer
SERIES: B
; Answer () No. Answer
‘r;d:\o : D 41 B
3 C 42 5
3 D 43 C
4 C 44 A
S A B [ 45 C
6 C 46 C
7 A 47 C
8 A 48 A
9 D 49 B
10 B 50 B
I B 51 C
12 A 52 A
13 A 53 D
l:t B3 54 D
15 C sS D
16 B 56 A
17 D 57 C
18 A 58 B
19 C 59 T
T B
5 I -
- A 62 B
z3 A 63 A
24 A 64 C
25 B 65 A
26 C 66 A
27 C 67 C
28 D 68 C
29 A 6Y D
30 D 70 C
31 C 71 C
32 A 72 D
33 B 73 C
34 D 74 C
35 D 75 C
36 C 76 B
37 B 77 C
3% D 78 D
39 D 79 C
40 D 80 C

COORDINATOR
Dated : 02.05.2019
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